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D

a=37°, b=74°, ¢=53°, d=127°, e=53°

mYE =76°, mZOGE =25°, mZMOG =52°, mZMER =25°, m/GUM =115°

translation

/97 units

(3 -9)

4 cm

12z ft?

squares

817z cm?




"x— [OT &) 2_x (Or ZX\/EJ
[34] 3 3 )43 3

[35] perpendicular bisector

[36] 98 cm?

[37] (0, —4); 3 units

38] (* -¥)

[39] m’+n’=p’

[40] 150 in’

[41] translation

[42] Answers will vary

[43] Answers will vary

[44] No; the side lengths do not work in the Pythagorean formula (that is, 5*+7° # 92).

[45] Isosceles; LM = MN =420, while LN =+/40.

[46] 6 cm?

[47] 2400 cm®

[48] 180 in®

[49] (187-36)cm’

[50] 7cm
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1707 ft?

36+/3 cm?

6 in.

congruent; proportional

35 cm?

2 2
ft(-{J h, or =k
2 4

parallel

mass; volume

s12
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L

54 cm’

17593 cm’

x=18cm, y=12 cm

21.85 cm

10 cm

5142 cm®
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11.11 em

3cm

34.56°

2354 cm

897 g/cm’

84 ft, or 28 yd

66m




